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The following definition for backwards compatible changes, as well as the backwards compatibility analysis to perform per each CR, are proposed for discussion.

Definition of a backwards compatible change

A Change implemented in version N of a 3GPP release is backwards compatible when the following conditions are all met:

· Any functionality that was working in versions prior to version N still works with a UE that implements version N and a network implementing version N-1

· Any functionality that was working in versions prior to version N still works with a network that implements version N and a UE implementing version N-1

· Any functionality that was working in versions prior to version N still works with a UE that implements version N and a network implementing version N

Backwards compatibility with version N-1 should also mean BC with any prior version of the specifications in which the functionality was working, although exceptions may exist.

A backwards compatible change needs to be implemented by networks and UEs if they support the corrected functionality so that the standard (and the functionality that it intends to correct) works.

Alternatives when a function is found erroneous in release 99

· Make a backwards compatible change that corrects or deletes the function

· Make a non backwards compatible change that corrects the function

· State that the erroneous function is not supported in release 99, and make the correction in the next release

Backwards compatibility analysis

A backwards compatibility analysis should provide the following :

· Define clearly the functionality which does not work

· Describe the correction which is being brought, among the 3 described above

· When the change is not a backwards compatible change (not bullet 1 above) , state the consequence in the following cases:

· Network implements the change, but not the UE

· UE implements the change, but not the network

